
 +1-760-591-7383   fxl.com

Replacement Parts 

DESIGNER | WALL LIGHT | SL5

1

5
4

1

1

1

1

E0000 AAA 7/22/2012

REV ECO REVISION DESCRIPTION DRFT DATE

ITEM NO. PART NUMBER DESCRIPTION
Curve 

Faceplate/
Default/Q

TY.

1 2500307500XX FACEPLATE, CURVE, SL-5 1

5 250030760000 GASKET, LENS, SL-5 1

3 2500307400XX BODY, SL-5 1

4 250030840000 LENS, SL-5 1

250028890000 J-BOX, 1G, NW, PLASTIC 1

250030730000 CLEAR  LENS, SL-5 1

250030800000 SMALL DIFFUSER, SL-5 1

250028630000 90 DEGREE SOCKET, 
INTEGRATED LED 1

250030810000 SHEETMETAL, TAB, SL-5 2

250030820000 WALL GASKET, CURVE, SL-5 1

1 250031030000 SCREW, PNH, M3.5X0.6MM, 8MM 
LG, PHILLIPS, SST 4

250031020000 SCREW, FH, M3.5X0.6MM, 6MM LG, 
PHILLIPS, SST 2

250031040000 SCREW, SCH SET, M3X0.5MM, 
20MM LG, CUP POINT, SST 1

14 250014810000 SCREW, FH, 6-32 X 7/16 LG, MACH, 
PHILLIPS, SST, 82 DEG 2

250031050000 SCREW, PNH, M3X0.5MM, 5MM LG, 
PHILLIPS, SST 2

1 7520XX PCA, LED, 3X 1

250029820000 SCREW, PH, 4-40 X 1/4, PHIL, SST 2

18 250030790000 SHEETMETAL, HOR, SL-5 1

A

B

C

D

4 3 2 1

DIMENSIONAL
TOLERANCES:

REL.
DATE:

TITLE:

COLOR:

MATERIAL
SPEC:

SCALE:

DRAWING NO. REV.

PRINT
DATE:

UNLESS OTHERWISE SPECIFIED:

SURFACE FINISH:

ALL DIMENSIONS ARE IN INCHES

DO NOT SCALE DRAWING

1:4

ANGLES: ±1°

Hunter Industries
Engineering
1940 Diamond St.
San Marcos, CA 92078

C

D

A

B

4 3 2 1
SHEET  1  OF  1

.XX = ±.01
.XXX = ±.005

.XXXX = ±.0005THIRD ANGLE PROJ.

CSIZE:

4/19/2021

DRAWN
BY:

PRODUCT:

MATERIAL:

THIS DRAWING/DOCUMENT CONTAINS TRADE SECRET INFORMATION OF HUNTER INDUSTRIES, INC. USE, PUBLICATION, AND/OR 
DISCLOSURE OF THIS INFORMATION TO THIRD PARTIES ARE ALL PROHIBITED EXCEPT AS EXPRESSLY AUTHORIZED IN ADVANCE BY HUNTER. 
NO PATENT LICENSE IS GRANTED TO ANY INVENTIONS DESCRIBED AND/OR ILLUSTRATED HEREIN.  ©COPYRIGHT HUNTER INDUSTRIES, INC. 

CONFIDENTIAL AND PROPRIETARY

C1 FORMAT REVISION 11/20/2017 

DENOTES FUNCTIONALLY CRITICAL POINTS
DENOTES CRITICAL INSPECTION POINTS

,       Faceplate Assembly, Curve                                   

                  Faceplate Assembly, Flat                                     SL5FPFTxx*

,            Lens Assembly                                                  

        

        Mounting Kit, Curve                                              
                 Mounting Kit, Flat                                                  MKSL5FT

 5.1" (130mm) 

 5.1" (130mm) 

 2.1" (53mm) 

 1.4" (36mm) 

 5.1" (130mm) 

E0000 AAA 7/22/2012

REV ECO REVISION DESCRIPTION DRFT DATE

A

B

C

D

4 3 2 1

DIMENSIONAL
TOLERANCES:

REL.
DATE:

TITLE:

COLOR:

MATERIAL
SPEC:

SCALE:

DRAWING NO. REV.

PRINT
DATE:

UNLESS OTHERWISE SPECIFIED:

SURFACE FINISH:

ALL DIMENSIONS ARE IN INCHES

DO NOT SCALE DRAWING

1:1

 
ANGLES: ±1°

Hunter Industries
Engineering
1940 Diamond St.
San Marcos, CA 92078

C

D

A

B

4 3 2 1

SHEET  1  OF  1

.XX = ±.01
.XXX = ±.005

.XXXX = ±.0005THIRD ANGLE PROJ.

CSIZE:

1/4/2021

DRAWN
BY:

PRODUCT:

MATERIAL:

THIS DRAWING/DOCUMENT CONTAINS TRADE SECRET INFORMATION OF HUNTER INDUSTRIES, INC. USE, PUBLICATION, AND/OR 
DISCLOSURE OF THIS INFORMATION TO THIRD PARTIES ARE ALL PROHIBITED EXCEPT AS EXPRESSLY AUTHORIZED IN ADVANCE BY HUNTER. 
NO PATENT LICENSE IS GRANTED TO ANY INVENTIONS DESCRIBED AND/OR ILLUSTRATED HEREIN.  ©COPYRIGHT HUNTER INDUSTRIES, INC. 

CONFIDENTIAL AND PROPRIETARY

C1 FORMAT REVISION 11/20/2017 

DENOTES FUNCTIONALLY CRITICAL POINTS
DENOTES CRITICAL INSPECTION POINTS

ITEM DESCRIPTION CATALOG #

1-3, 6-7
Faceplate Assembly, Curve SL5FPCVXX*

Faceplate Assembly, Flat SL5FPFTXX*

8 Screws, M3 x 0.5 mm, 5 mm LG, Phil, SST †

9, 10 Lens Assembly SL5LENS

11 Screws, PH, 4-40 x 1/4", Phil, SST †

12 LED Board See LED Chart

13 Housing †

14 Screw, M3.5 x 0.6 mm, 6 mm, Phil, SST †

15 90° Socket †

16-17
Mounting Kit, Curve MKSL5CV

Mounting Kit, Flat MKSL5FT

* XX = Finish code 
† This part is not serviceable. Contact Customer Support or a local 
distributor to order a new product.



 +1-760-591-7383   fxl.com FXLIT-027   A   6/21

ITEM DESCRIPTION CATALOG #

3 1 LED Spot Lens (18º) 770600

3 1 LED Flood Lens (30º to 32º) 1LEDFLLENS

3 1 LED Wide Flood Lens (56º to 58º) 1LEDWFLLENS

4 3 LED Spot Lens (18º) 771300

4 3 LED Flood Lens (30º to 32º) 3LEDFLLENS

4 3 LED Wide Flood Lens (56º to 58º) 3LEDWFLLENS

5 1 LED Color Filter, Amber 770100

5 1 LED Color Filter, Blue 770101

5 1 LED Color Filter, Green 770102

6 3 LED Color Filter, Amber 770800

6 3 LED Color Filter, Blue 770801

6 3 LED Color Filter, Green 770802

7
1 LED/3 LED Screw, #4–40 x ⅜" 
(Qty Req: 2)

762400

8 1 LED Reflector 770000

9 3 LED Reflector 770700

9 ZDC Reflector 250022050000

10 1 LED Board 1LEDULKIT‡

11 3 LED Board 3LEDULKIT‡

11 ZDC LED Board ZDCKITM**

‡ ZD = Zoneable and dimmable (add ZD to front of part number)
** ZDC Kit includes LED board, reflector (#9), screws (#7), and flood 
lens diffuser (3LEDWFLLENS)

LED Chart

DESIGNER | WALL LIGHT | SL5


